TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. w PHOTO DESCRIPTION OF GOODS
%
1 |71 FLEXIBLE GREASE GUN HOSE 12" (GERMANY)
)
2 |706 GREASE GUN HOSE & NOZZLE
3 |705 GREASE GUN NOZZLE
4 3004 POP RIVETS (1000 PCS/BOX)
5 |1108 HAND RIVETER (EAGLE ONE BRAND)
6 |1111 HAND RIVETER (KING EAGLE BRAND)
7 |1103 PLIER MULTI GRIP (LOCKING PLIER) (EAGLE ONE BRAND)
8 4004 " | PLIER HOLE PUNCH #KELP91A (KING EAGLE BRAND)

Page 1 0of 9



TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. PRODUCT. PHOTO DESCRIPTION OF GOODS
CODE
e 4
9 4411 W% OPEN END & RING WRENCH SET (14 PCS)
e
A%
%
10 2918 CHALK LINE REEL (PVC HEAD)
11 |2919 CHALK LINE REEL (BRASS HEAD) (KING EAGLE BRAND)
12 2917 CHALK LINE REEL (EAGLE ONE BRAND)
13 2201 HACK SAW FRAME ECLIPSE - EDP (KING EAGLE BRAND)
14 2414-18 HACKSAW BLADES (NORMAL) YELLOW 18T (EAGLE ONE BRAND)
15 2414-24 HACKSAW BLADES (NORMAL) YELLOW 24T (EAGLE ONE BRAND)
16 2401-18 HACKSAW BLADES (FLEX) HSS ULTRA 18T
17 2401-24 HACKSAW BLADES (FLEX) HSS ULTRA 24T
18 2910-6 i SHIFTING SPANNER (ADJUSTABLE WRENCH) 6"
19 2910-8 \)&\ SHIFTING SPANNER (ADJUSTABLE WRENCH) 8"
20 2910-10 & N SHIFTING SPANNER (ADJUSTABLE WRENCH) 10"
21 2910-12 3 SHIFTING SPANNER (ADJUSTABLE WRENCH) 12"
22 2910-15 SHIFTING SPANNER (ADJUSTABLE WRENCH) 15"
23 2910-18 N SHIFTING SPANNER (ADJUSTABLE WRENCH) 18"
24 2910-24 SHIFTING SPANNER (ADJUSTABLE WRENCH) 24"
25 2403-6 SHIFTING SPANNER (ADJUSTABLE WRENCH) 6" (EAGLE ONE BRAND)
26 2403-8 : SHIFTING SPANNER (ADJUSTABLE WRENCH) 8" (EAGLE ONE BRAND)
27 2403-10 SHIFTING SPANNER (ADJUSTABLE WRENCH) 10" (EAGLE ONE BRAND)

Page 2 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. w PHOTO DESCRIPTION OF GOODS
28 |[2403-12 \ SHIFTING SPANNER (ADJUSTABLE WRENCH) 12" (EAGLE ONE BRAND)
29 |[2403-15 SHIFTING SPANNER (ADJUSTABLE WRENCH) 15" (EAGLE ONE BRAND)
30 [2911-10 WRENCH PIPE 10" (CHINA)

31 [2911-12 WRENCH PIPE 12" (CHINA)
32 [2911-14 WRENCH PIPE 14" (CHINA)
33 |[2911-18 WRENCH PIPE 18" (CHINA)
34 [2911-24 WRENCH PIPE 24" (CHINA)
35 [2911-36 WRENCH PIPE 36" (CHINA)
36 |0502-80 WATERPROOF ABRASIVE PAPER # 80
37 [0502-100 WATERPROOF ABRASIVE PAPER # 100
38 [0502-120 WATERPROOF ABRASIVE PAPER # 120
39 [0502-150 WATERPROOF ABRASIVE PAPER # 150
40 [0502-180 WATERPROOF ABRASIVE PAPER # 180
41  [0502-220 WATERPROOF ABRASIVE PAPER # 220
42 [0502-240 DEST WATERPROOF ABRASIVE PAPER # 240
43 [0502-280 dssasers porer WATERPROOF ABRASIVE PAPER # 280
44 |0502-320 NREmes WATERPROOF ABRASIVE PAPER # 320
= s e o)
45 [0502-360 IO T X RN ) WATERPROOF ABRASIVE PAPER # 360
46  [0502-400 WATERPROOF ABRASIVE PAPER # 400
47  [0502-600 WATERPROOF ABRASIVE PAPER # 600
48  [0502-800 WATERPROOF ABRASIVE PAPER # 800
49  [0502-1000 WATERPROOF ABRASIVE PAPER # 1000
50 |0513-40 ABRASIVE PAPER ROLL 12X45M # 40
51  |0513-60 ABRASIVE PAPER ROLL 12X45M # 60
52 |0513-80 ABRASIVE PAPER ROLL 12X45M # 80
53  [0513-100 ABRASIVE PAPER ROLL 12X45M # 100
54  [0513-120 ABRASIVE PAPER ROLL 12X45M # 120
55 [0513-150 ABRASIVE PAPER ROLL 12X45M # 150
56  [2908-316 \ TURNBUCKLE HOOK 3/16" (VK BRAND)
57  [2908-14 N TURNBUCKLE HOOK 1/4" (VK BRAND)
58 [2908-516 N \ j TURNBUCKLE HOOK 5/16" (VK BRAND)
\
59  [2908-38 = TURNBUCKLE HOOK 3/8" (VK BRAND)
K, \ o,
60 |[720 ,\/ WHEEL BRACE 4-WAYS (WHEEL CROSS) 14" 14MM CHROME (INDIA)
61 [0712-3 " 3 LEGS PULLER 3"
-
62 |0712-4 1 1 ‘*'i_- 3 LEGS PULLER 4"
3.
63 [0712-6 - ﬂ ) 3 LEGS PULLER 6"
64 [0712-8 it 3 LEGS PULLER 8"
65 [0812-3 RECORD MECHANICS VICE 3"
66 |0812-4 RECORD MECHANICS VICE 4"
67 |0812-5 RECORD MECHANICS VICE 5"
68 [0812-6 RECORD MECHANICS VICE 6"
69 [0812-8 RECORD MECHANICS VICE 8"
70 |0811-4 MULTI ANGLE VICE 4" (EAGLE ONE BRAND)
71 |0811-5 MULTI ANGLE VICE 5" (EAGLE ONE BRAND)

Page 3 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. w DESCRIPTION OF GOODS
72 |0811-6 MULTI ANGLE VICE 6" (EAGLE ONE BRAND)
73 [1921-3 WOOD WORKING VICE (T-CLAMP) 3 FT.
74 [1921-4 WOOD WORKING VICE (T-CLAMP) 4 FT.
75  [1921-5 WOOD WORKING VICE (T-CLAMP) 5 FT.
76  [1921-6 WOOD WORKING VICE (T-CLAMP) 6 FT.
77 [1921-7 WOOD WORKING VICE (T-CLAMP) 7 FT.
78 [1921-8 WOOD WORKING VICE (T-CLAMP) 8 FT.
79 |0810-2 C - CLAMP 2"
80 [0810-3 C - CLAMP 3"
81 |0810-4 C - CLAMP 4"
82 |0810-5 C - CLAMP 5"
83 [0810-6 C - CLAMP 6"
84 |0810-8 C - CLAMP 8"
85 [0810-10 C - CLAMP 10"
86 |0810-12 C-CLAMP 12"
87 |[3104 CUTTING DISC 4" 2MM RED CLR. (KING EAGLE BRAND)
88 [3106 CUTTING DISC 4" 1MM X-RESICUT (KING EAGLE BRAND)
89  |0605-24-24 SANDING BELT 4X24 #24 (GERMANY)
90 |0605-24-36 SANDING BELT 4X24 #36 (GERMANY)
91  |0605-24-40 SANDING BELT 4X24 #40 (GERMANY)
92 |0605-24-60 SANDING BELT 4X24 #60 (GERMANY)
93 |0605-24-80 SANDING BELT 4X24 #80 (GERMANY)
94 |0605-24-100 &w SANDING BELT 4X24 #100 (GERMANY)
95  |0605-24-120 T el SANDING BELT 4X24 #120 (GERMANY)
96  |0605-24-150 SANDING BELT 4X24 #150 (GERMANY)
97  |0605-36-40 SANDING BELT 4X36 #40 (GERMANY)
98 [0605-36-60 SANDING BELT 4X36 #60 (GERMANY)
99  [0605-36-80 SANDING BELT 4X36 #80 (GERMANY)
100 [0605-36-100 SANDING BELT 4X36 #100 (GERMANY)
101 |0605-36-120 SANDING BELT 4X36 #120 (GERMANY)
102 |0605-36-150 SANDING BELT 4X36 #150 (GERMANY)
103 |0511-40-S FLAP GRINDING DISC # 40 (SOFT BACK) (EAGLE ONE) 4 INCH
104 |0511-60-S FLAP GRINDING DISC # 60 (SOFT BACK) (EAGLE ONE) 4 INCH
105 |0511-80-S FLAP GRINDING DISC # 80 (SOFT BACK) (EAGLE ONE) 4 INCH
106 |0511-100-S FLAP GRINDING DISC # 100 (SOFT BACK) (EAGLE ONE) 4 INCH
107 |0511-120-S FLAP GRINDING DISC # 120 (SOFT BACK) (EAGLE ONE) 4 INCH
108 |0511-40-H FLAP GRINDING DISC # 40 (HARD BACK) (EAGLE ONE) 4 INCH
109 |0511-60-H FLAP GRINDING DISC # 60 (HARD BACK) (EAGLE ONE) 4 INCH
110 |0511-80-H FLAP GRINDING DISC # 80 (HARD BACK) (EAGLE ONE) 4 INCH
111 |0511-100-H FLAP GRINDING DISC # 100 (HARD BACK) (EAGLE ONE) 4 INCH
112 |0511-120-H FLAP GRINDING DISC # 120 (HARD BACK) (EAGLE ONE) 4 INCH

Page 4 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. PRODUCT PHOTO DESCRIPTION OF GOODS
CODE
113 0804-1000 SPRAY GUN 1000ML # SG-112 (EAGLE ONE BRAND)
114 0807-400 5 L;)”[:nﬁ—‘d SPRAY GUN INVERTED 400ML # W71G (EAGLE ONE BRAND)
=
115 0710-300 OIL CAN FLEXIBLE 300 CC (EAGLE ONE BRAND)
116 0710-500 OIL CAN FLEXIBLE 500 CC (EAGLE ONE BRAND)
117 0614-40 PE LEVEL LINE # 40 / 80M.
118 0614-50 PE LEVEL LINE # 50 / 90M.
119 0614-60 PE LEVEL LINE # 60 / 73 M.
120 0614-70 - PE LEVEL LINE # 70 / 65 M.
121 0614-80 d})))) PE LEVEL LINE # 80 / 35 M.
122 0614-90 %5 w2 PE LEVEL LINE # 90 / 40 M.
123 0614-100 PE LEVEL LINE # 100 / 36 M.
124 0614-120 PE LEVEL LINE # 120 / 25 M.
125 0614-150 PE LEVEL LINE # 150 / 15 M.
126 0614-200 PE LEVEL LINE # 200 / 10M.
127 0815-D MULTI METER - DIGITAL (YUKO BRAND)
128 0819-A MULTI METER - SCALE (YUKO BRAND)
129 0109-2 SOLDER WIRE 60/40 2M.

Page 5 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. PRODUCT PHOTO DESCRIPTION OF GOODS
CODE
130 |0309-LS SOLDER LIQUID
131 ]0201-1 VALVE GRINDING PASTE (CHEMICO BRAND)
132 |0421-1 VALVE GRINDING PASTE (NIPPON BRAND)

133 |1519 gé 5; ‘ ADJUSTABLE HOSE NOZZLE (BRASS)

134 |1402 FLUID LEVEL CONTROLLER # UKY-2 (EAGLE ONE BRAND)
135 |1403 FLOAT LEVEL SWITCH ORANGE CLR. (EAGLE ONE BRAND)
136 2701 MAGNETIC LEVEL 9" (EAGLE ONE BRAND)

137 1812 WATER METER 1/2"

Page 6 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM No,|ERODUCT. PHOTO DESCRIPTION OF GOODS
CODE
138 |1813 WATER METER 1/2"
139 |1811 WATER METER 1/2" ABS PLASTIC
140 |1415-12 BALL VALVE - BRASS 200P. 1/2" (RAMBO BRAND)
141 |1415-34 Al BALL VALVE - BRASS 200P. 3/4" (RAMBO BRAND)
L
142 |1415-1 =R BALL VALVE - BRASS 200P. 1" (RAMBO BRAND)
143 |1415-112 ;ﬁ| BALL VALVE - BRASS 200P. 1.1/2" (RAMBO BRAND)
- |
144  |1415-2 - ?ﬂa BALL VALVE - BRASS 200P. 2" (RAMBO BRAND)
145 |1708-12 BALL VALVE - BRASS 1/2" (SANWA BRAND)
146 |1708-34 BALL VALVE - BRASS 3/4" (SANWA BRAND)
147 [1708-1 BALL VALVE - BRASS 1" (SANWA BRAND)
148 [1708-114 BALL VALVE - BRASS 1.1/4" (SANWA BRAND)
149 [1708-112 BALL VALVE - BRASS 1.1/2" (SANWA BRAND)
150 |1708-2 BALL VALVE - BRASS 2" (SANWA BRAND)
151 |1708-212 BALL VALVE - BRASS 2.1/2" (SANWA BRAND)
152 |1708-3 BALL VALVE - BRASS 3" (SANWA BRAND)
153 |1708-4 BALL VALVE - BRASS 4" (SANWA BRAND)
154 |1809-12 BALL VALVE - BRASS 1/2" (AZUMA BRAND)
155 |1809-34 BALL VALVE - BRASS 3/4" (AZUMA BRAND)
156 |1809-1 BALL VALVE - BRASS 1" (AZUMA BRAND)
157 |1809-114 BALL VALVE - BRASS 1.1/4" (AZUMA BRAND)
158 |1809-112 BALL VALVE - BRASS 1.1/2" (AZUMA BRAND)
159 [1809-2 BALL VALVE - BRASS 2" (AZUMA BRAND)
160 |1809-212 BALL VALVE - BRASS 2.1/2" (AZUMA BRAND)
161 |1809-3 BALL VALVE - BRASS 3" (AZUMA BRAND)
162 |1809-4 BALL VALVE - BRASS 4" (AZUMA BRAND)
&
163 |2514 N SCREWDRIVER VOLTAGE INDICATOR # CP 102A (EAGLE ONE BRAND)
164 |2515 \& \. SCREWDRIVER VOLTAGE INDICATOR # CP 808A (CHAMPION-TOP BRAND)
165 |2605-1 GLASS CUTTER # 1 (KING EAGLE BRAND)
166 |2605-2 GLASS CUTTER # 2 (KING EAGLE BRAND)

Page 7 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

ITEM NO. w PHOTO DESCRIPTION OF GOODS
LODE -

167 12605-3 ' GLASS CUTTER # 3 (KING EAGLE BRAND)
168 |2705-10 MEASURING TAPE (FIBERGLASS COVER) 10M.
169 |2705-15 MEASURING TAPE (FIBERGLASS COVER) 15M.
170 |2705-20 MEASURING TAPE (FIBERGLASS COVER) 20M.
171 |2705-25 MEASURING TAPE (FIBERGLASS COVER) 25M.
172 |12705-30 MEASURING TAPE (FIBERGLASS COVER) 30M.
173 |2705-40 MEASURING TAPE (FIBERGLASS COVER) 40M.
174 |2705-50 MEASURING TAPE (FIBERGLASS COVER) 50M.
175 |2810-1 LOCK & KEY MASTER SET 3PCS-SET 35MM (SOLEX BRAND)
176 |2810-2 LOCK & KEY MASTER SET 3PCS-SET 40MM (SOLEX BRAND)
177 12810-3 LOCK & KEY MASTER SET 3PCS-SET 45MM (SOLEX BRAND)
178 [2810-4 LOCK & KEY MASTER SET 3PCS-SET 50MM (SOLEX BRAND)
179 |2810-5 LOCK & KEY MASTER SET 5PCS-SET 35MM (SOLEX BRAND)
180 12810-6 LOCK & KEY MASTER SET 5PCS-SET 40MM (SOLEX BRAND)
181 [2810-7 LOCK & KEY MASTER SET 5PCS-SET 45MM (SOLEX BRAND)
182 |2810-8 LOCK & KEY MASTER SET 5PCS-SET 50MM (SOLEX BRAND)
183 12810-9 LOCK & KEY MASTER SET 5PCS-SET 55MM (SOLEX BRAND)
184 |2810-10 LOCK & KEY MASTER SET 10PCS-SET 35MM (SOLEX BRAND)
185 |2810-11 LOCK & KEY MASTER SET 10PCS-SET 40MM (SOLEX BRAND)
186 12810-12 LOCK & KEY MASTER SET 10PCS-SET 45MM (SOLEX BRAND)
187 |2810-13 LOCK & KEY MASTER SET 10PCS-SET 50MM (SOLEX BRAND)
188 |2810-14 LOCK & KEY MASTER SET 10PCS-SET 55MM (SOLEX BRAND)
189 13003-1 CONCRETE NAIL 1 # 12 (DIAMOND BRAND)
190 |3003-2 CONCRETE NAIL 1 # 9 (DIAMOND BRAND)
191 |3003-3 CONCRETE NAIL 1.1/2 # 12 (DIAMOND BRAND)
192 13003-4 CONCRETE NAIL 1.1/2 # 9 (DIAMOND BRAND)
193 |3003-5 CONCRETE NAIL 2 # 9 (DIAMOND BRAND)
194 |3003-6 CONCRETE NAIL 2.1/2 # 8 (DIAMOND BRAND)
195 |3003-7 CONCRETE NAIL 3 # 7 (DIAMOND BRAND)
196 [3003-8 CONCRETE NAIL 4 # 7 (DIAMOND BRAND)

Page 8 of 9




TOOLS HARDWARE - PTC LTD www.ptcthailand.com

iTEM No.[ERODUCT. PHOTO DESCRIPTION OF GOODS
CODE
197 [3412-1 i STUD BOLT ANCHORS 3/16" POP (400 PCS)
198 [3412-2 Yy STUD BOLT ANCHORS 1/4" POP (200 PCS)
199 [3412-3 & STUD BOLT ANCHORS 5/16" POP (100 PCS)
200 |[3412-4 ) STUD BOLT ANCHORS 3/8" POP (75 PCS)
201 34125 *Q\ STUD BOLT ANCHORS 1/2" POP (30 PCS)
202 34126 > STUD BOLT ANCHORS 5/8" POP (20 PCS)
203 |3412-7 STUD BOLT ANCHORS 3/4" POP (8 PCS)

204 |4103 ﬁ PUMP HAND ROTARY

205 |4102 PUMP HAND ROTARY OIL

t

206 10202-6204 BEARING # 6204 (PUSHCART)

207 |0202-6205 BEARING # 6205 (PUSHCART)

'i

208 |0202-6304 BEARING # 6304 (PUSHCART)

209 |4204-1 BEARING UNITS UCP-205 1"
210 [4204-2 BEARING UNITS UCP-207 1.1/4"
211 14204-3 - BEARING UNITS UCP-208 1.1/2"
212 [4204-4 BEARING UNITS UCP-209 1.3/4"
213 14204-5 BEARING UNITS UCP-211 2"
214 [4204-6 BEARING UNITS UCP-205 1" - SQUARE BASE TYPE
215 |4204-7 BEARING UNITS UCP-207 1.1/4" - SQUARE BASE TYPE
216 |4204-8 BEARING UNITS UCP-208 1.1/2" - SQAURE BASE TYPE
217 |1012-1 N WELDING ELECTRODE HOLDER 300AMP. (EAGLE ONE BRAND)
218 [1012-2 WELDING ELECTRODE HOLDER 500AMP. (EAGLE ONE BRAND)
219 |4401 LOCK STRAP 2" X 10 M.
220 (2913 g SLATE PENCIL
ey
221 |2914-1 / SQUARE RULE 10"
222 (2914-2 1' SQUARE RULE 12"
223 4316 i SLIDING T-BEVEL 8"

Page 9 of 9




